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Combustion Reactions

 hydrocarbon  +  oxygen
Reactants Products

yields
carbon dioxide + water
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Example #1

Word Equation:

carbon tetrahydride  +  oxygen                                

Chemical Equation:

   +      O2

CH4 = carbon tetrahydride = methane 

In combustion reactions, balance the carbon atoms first, hydrogen 
atoms second and oxygen atoms third. 
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Example #2

Word Equation:

 tetracarbon decahydride  +  oxygen                                

Chemical Equation:

C4H10   +     O2

C4H10 = tetracarbon decahydride = butane

Another...
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Science 10 


Single and Double Replacement Reactions 


Identify the reactions below as single replacement (SR) or double replacement (DR) reactions then balance the 


reactions. 
 


_________________1.  ___AlI3 + ___HgCl2   -> ___AlCl3 + ___HgI2 


 
 
_________________2.  ___AgNO3 + ___Ni   -> ___ Ni(NO3)2 + ___Ag 
 
 
_________________3.  ___AgNO3 + ___K3PO4   -> ___Ag3PO4 + ___KNO3 


 


 
_________________4.  ___CuBr2 + ___AlCl3   -> ___CuCl2 + ___AlBr3 


 
 


_________________5.  ___AlBr3 + ___Cl2   -> ___AlCl3 + ___Br2 


 
 


_________________6.  ___Ca(C2H3O2)2 + ____Na2CO3   -> ___CaCO3 + ___NaC2H3O2 


 


  
_________________7.  ___NH4Cl + ___Hg2(C2H3O2)2   -> ___NH4 C2H3O2 + ___Hg2Cl2 


 


 
_________________8.  ___NaI + ___Br2   -> ___NaBr + ___I2 


 
 


_________________9.  ___Ca + ___HCl   -> ___CaCl2 + ___H2 


 


 
_________________10.  ___Ca(NO3)2 + ____HCl  -> ___CaCl2 + ___HNO3 


 


 
_________________11.  ___FeS + ___HCl   -> ___FeCl2 + ___H2S 
 
 
_________________12.  ___Cu(OH)2 + ___HC2H3O2   -> Cu(C2H3O2)2 + ___H2O 
 
 
_________________13.  ___Mg + ___HNO3   -> ___Mg(NO3)2 + ___H2 


 


 
_________________14.  ___Ca(OH)2 + ___H3PO4   -> ___Ca3(PO4)2 + ___H2O 
 
 
_________________15.  ___CaBr2 + ___KOH   -> ___Ca(OH)2 + ___KBr 
 
 
_________________16.  ___K + ___H2O  ->  ___KOH + ___H2 







 
 


 
KEY 
 
1. 2AlI3 + 3HgCl2  -> 2AlCl3 + 3HgI2 
 
2.  2AgNO3 + Ni � Ni(NO3)2 + 2Ag 
 
 
3. 3AgNO3 + K3PO4 -> Ag3PO4 + 3KNO3 


 
 


4. 3CuBr2 + 2AlCl3 -> 3CuCl2 + 2AlBr3 


 
 
5.  2AlBr3 + 3Cl2 � 2AlCl3 + 3Br2 


 
6. Ca(C2H3O2)2 + Na2CO3 -> CaCO3 + 2NaC2H3O2 


 


 
7. 2NH4Cl + Hg2(C2H3O2)2 -> 2NH4 C2H3O2 + Hg2Cl2 
 
8.  2NaI + Br2 � 2NaBr + I2 


 


9.  Ca + 2HCl � CaCl2 + H2 


 
 
10. Ca(NO3)2 + 2HCl -> CaCl2 + 2HNO3 


 
 
11. FeS + 2HCl -> FeCl2 + H2S 
 
 
12. Cu(OH)2 + 2HC2H3O2 -> Cu(C2H3O2)2 + 2H2O 
 
13.  Mg + 2HNO3 � Mg(NO3)2 + H2 


 


 
14. 3Ca(OH)2 + 2H3PO4 -> Ca3(PO4)2 + 6H2O 
 
 
15. CaBr2 + 2KOH -> Ca(OH)2 + 2KBr 
 


16.  2K + 2H2O � 2KOH + H2 
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